o
[N

o
N

Ratiq

0.95

<op/p. > (%)

5E : ; ;

a-{iH - -
o - - -
2L :
031
—af |

s S L |
A= N R R

<3 @> (rad)
o
=
(6)]

9_-0\»’2””!””!

...............

iy

T
|
N

1 0 1 2 3

TP n (PCA to beamline)

< d cot(B) >

10

Ratl

—0v2

........................

.........................

ey

0.95!

W[TTTT T

-2

-1

0 1 2 3
TP n (PCA to beamline)

—=— DQM_TT__ORIGINAL

—— DQM_TT__MODIFIED_propToPlane_PRVersionFINAL5

[T
|
N

-1 0 1 2 3

TP n (PCA: to beamline)

TP n (PCA- to beamline)

—

Ratiq

100

iy

0.95

W

-2

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


